50 SQUARE PUZZLES

Each 50 Square Puzzle consists of a square grid (either 3x3
or 4x4) with numbers appearing in each square.

Add one additional digit fo some of the cells so that the
sum of the numbers in each row and each column

equals 50.

PUZLZLE SOLUTION
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PUZZLE - 31 50 PUZZLE - 32

11711 511/2|4
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8 2 1|5 2 111
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11212 21|22
113(2|8 31221
11283 11111
1824 1/8(2)|6
/1,83 11261
2111 21,91
4 3 1|2 11118

arah Carter | @mathequalsiove | mathequalsiove.net | M+ A + T + H = an,



PUZZLE - 37 50 PUZZLE - 38

1|2

1

4 6

O N A~ |0
N
—
O = N 0o
- NN O A
—
0 — N |00

2 8

~O—'—'~Og
| —
NN
WINN = O
m_._._.g
NN | —
N | = |
_ NN | =

PUZIZLE - 41 50 PUZIZLE - 42

1|2

21

1|6

- e | ) | )

2
19
3
1

0|V w| =]
NN | =0
O/ = N[N

21

arah Carter | @mathequalsiove | mathequalsiove.net | M+ A + T + H = an,



PUZIZLE - 43 50 PUZIZLE - 44

3|2
8
11
31

—
—
— — | — N

N =N -
N

— ot [N |

QN_n_no
O~
—

NN—'—'M
— | —
N | =

— - N | O

- N AW

—
" .

0 = | N O~

PUZIZLE - 47 50 PUZZLE - 48

1121
1125
3(3]|2
22 2

Sarah Carter | @mathequalsiove | mathequalsiovenet | M+ A + T + H = Qm

W =W O
—t | et | ) | —
W
— | ) | )| —
O | O | = | =




PUZIZLE - 49 50 PUZZLE - 50

1|2

6

6| 2

_- =N
- | A
W W

o~N =N

-t e | el [ )

p—

—I—I—IN

13

3
2 6|1
7
1

W =[N
N
0

N
N
O | = | = | =
oo
0
ON | == | =t | =

PUZZLE - 53 50 PUZZLE - 54

? 1

1

6 2|5
1112
1/1,8

O | md | md |
C) | =t | ol | —
N | N
- N INN
- 00N | N

arah Carter | @mathequalsiove | mathequalsiove.net | M+ A + T + H = an,



PUZILE - 55 50 PUZZLE - 56

7|9
]
7?1
1)1

m—l
(8
N NN

— | N | -
—l

(@,
(@)
O~
S
N_n_nN

—t (N | |
0
o :
S e
_|_|_|o~(h
| )
0 | N
- N = O

PUZZLE - 59 50 PUZZLE - 60

2| 2
5|1
4 1
/1|1

Sarah Carter | @mathequalslove | mathequalslove.net | M+ A + T + H = an,

O/IN| o

NN =N
- NN O~
)

W
W =N |0




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11

